@ Year 6 Week 2 - Homework Name

No work adding

Choose a number from each cloud to add together.

Write out the addition, solve it in your head and write the total.

Do this four times.

100000
200000

900000
600000
3000000

0000

Addition challenge!

Use a written method to solve these additions. Show your working.
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@ Year 6 Week 2 - Homework Name

Addition challengel

€ 794 + 8069 + 5345 = O 1615+3182+2772 =

Adding and checking
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o The top three games in a
shop cost £3589, £28-45
and £19-20. How much is
it for all three games?

@ Use the inverse to check
the answer to this
addition.

6844-3 + 79871 = 7743-0l

m Write and solve your own addition. Check it using the inverse.
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I found this:
(L) Easy Challenging ~ [(©) I needed help




